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brackets Scientific calculator is allowed
Quest.(1) Prove that:
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Quest.(2) Perform three iteration of the Gauss-Jacobi iteration method for solving the 'system of equations
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Quest.(3) Find a real root of 3x + sinx = e*, correct 1 f&ur décithal places using the Newton-Raphson
method, (co-1){4]

Quest.(4) (a) Evaluate [ [ f (x,y)dxdy by T p idal i : (CO-5){3+3]

(b) Thf. dlS];aIlCGS (x cm) traversed by a particle at different times (t seconds) are given below

Ea \ i 0.0 0.1 02 0.3 04 05 0.6
y | x 3.01 316 | 329 | 336 | 340 | 338 3R

Find the velocity of the particle at t = 0.5 seconds.

Quest.(5) (a) Solve the initial value problem % = x(y —x), y(2)=23,in the interval [2,2.4] using

Runge- Kutta fourth order method with step xize h = 0.2 (CO-6)[6+3]



(b) A boundary value problem is defined by
d*y

subject 1o the boundary conditions

y(0)=0, y(1)=2
With & = 0.5, use the finite-difference method to determine the value of ¥(0.5).

Quest.(6) By using the method of least squares, fit a second degree parabola to the following dataz.

X -3 -2 -1 0 1
y 1.1 1.3 1.6 2.0 27

0]

Quest.(7) The function u(x,y) satisfies Laplace's equation u,,, + Uy =0, at afl :_poin;ts with ini the Square
given below and has the boundary values as indicated. Perform:thi
solution by using Jacobi’s methods.

‘iterations and compute a
(€O-6)[5]
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